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Abstract

TCP (Transmission Control Protocol) is one of the protocols which are widely used from the Internet
environments. Through the flow control of TCP, it could be increased efficiency for the loss and a
re-transmission of data and the flow control become accomplished through window technique which puts the
limit of size. By the flow control, TCP divided in various versions. In this paper, it is analyzed the simulation
result which applies the error model in the Newreno which is an improved model of the representative Tahoe,
Reno.
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